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Instruction : Question No. 1 is objective type question. It consists of

Section (A), Section (B) and Section (C). Each section has
5 questions of 1 mark each.

-1 (@ue-3t) wEl fawmen g fafay [1%5=5)

(Section-A) Choose and write the correct option :

() Trafafaa i 4 #5-91 yaa s Tl 2?2

(37) HCI (7) HNO,
(&) CH,COOH (?) H,S0,
Which among the following is not a strong acid?
(@) HCI (6) HNO,
(¢) CH,COOH (4) H,S0,
__ss4 WINERERRNENN pro.
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(i) Aveeh 2 orerd w3 et 9 Preega s R T
(30) AT G F 7 A
() T WR §fg & FH A
(7)) WY g 3fg & FH o
(%) oy e ofg & #m o
Elements in Mendeleyev's periodic table have been arranged
according to :
(@) increasing order of molecular wei ght
(b) increasing order of atomic weight
(¢) increasing order of atomic number
(d) increasing order of atomic radii
(iif) Frefefaa el 4 § Sh-o v wfisg wg 22
(37) Mg
(7 Al
y?)/ﬁa
(?) Zn
Which among the following is the most reactive metal?
(@) Mg
() Al
(¢) Na
(d) Zn
(v) FEAdIFR AT A w2
(37) =M™
(7) ™
L) gewatea
(3) siganfem
Which of the following is not a part of the female reproductive
system?
(@) Ovary
(6) Uterus
(c¢) Sperm duct

(@) OVE?HFIS://www.cgboardonline.com
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() wmmaﬁ%lmvﬁmﬂhmzﬁm?m?ﬁmﬁ;
F o & 1 7w whrw o =1 Yl agaosa § o srafae ta anfe
firgt A firen faw e ¥ 1 7% wepl WRFA R
() @R Haen (7) @R
(§) Wl F1 9% (3) T a%

A cow feeds grass. Its dung is used to make dung cakes which
arc used as fuel. The buming of dung cakes produces smoke
that reaches the atmosphere and the ashes mixed with soil. This

complete process is :

(@) Food chain (b) Food web
(c) Nutrient cycle (d) Lifecycle
-1 (@ue-a) fea wr &t gfd =i [1x5=5]
(Section-B) Fill in the blanks :
() & AW &Ha + 5D ¥, 99 AW I Hrhd g0 — . Tt
The power of lens is + 5D, then the focal length of the lens
willbe ___ cm.
(i) ‘ofifeafes’ @3 U= F1 3T FEQ wd — | TR
The word ‘ecosystem’ was firstly used by .
(i) TG T F P — ¥
____is the formula of Haematite ore.
(iv) faga uris S s — ¥
The S.1. unit of electric current is .
(v) K s o et I — fafu | fom s
The industrial production of ethenoic acid is done by __ method.
S-5A
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WE-1 (|ueE-w) Ifaa ey A : [1x5=5]
(%) (@)
() TR - ol R e
(i) S0 1 HATE - M A ASA
GO IREINED - a&g
(iv) NI T ~ 7w
(v) st - difean TUES
(Section-C) Match the following :
Ay (B)
(i) Nuclear energy —  Total internal reflection
(i7) Bad conductor of heat —  Gregor Johann Mendel
(iif) Genetics - Wood
(iv) Common salt —  Uranium
(v) Mirage ~  Sodium chloride
e . WA FH® 2 Q 6 T AT T T ¥AF TH W
2 3% omEfed €1 (WAF IW W ATUmaH  WR-F
30 W= ¥)
Instruction : Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of
each answer is 30 words)
WAz P @ e el @ e i, fs oifm w Y w mRi
S JE fa=ara fafa : [1+1=2]
4Be, oF, 1451 19K, 9oCa, 4Li
Select those elements which have one electron in their outermost cell
and write their electronic configuration :
| (Be, oF, 14Si, 10K, 2Ca, sLi
-3 e 3 i ¥ w Q Iwdm fafaw) [1+1=2)
Write any two uses of plaster of Paris.
S-5A
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¥ A WIS A U G W Ge W R i ? [2]
Balloon filled with gas bursts when taken close to fire. Why?
W e T @l A W 39 G e (1+1=2)
What do you mean by food chain and [ood web?

ffwva (gomgm) fFl Fea € 2 2 whevgl F A fafaw) [1+1=2]
What is Enzyme? Write the name of two enzymes.

W FHIE 7 ] 10 TF faegEaig W ¥ | YdS ¥ W
3 IF Efed ¥ (VAF W F Afueaw w=L-dmW
50 VI ®)

Instruction : Question Nos. 7 to 10 are very short answer type questions.

¥ -

Each question carries 3 marks. (Maximum word limit of

“each answer is 50 words)
QeR T Wi A o U Wads 3T fE S ¥ 1 GHEE
) | 3]
Plane mirror reflector is used inside the solar cooker box. Explain why.
qa3T T 39 g, s q91 39 90 o) we9r iafas uea fay
Y&HR F GFd € | http://www.c gboarddnline.com [1+1+1=3]

How can you identify a plane, concave and convex mirror by

observing image formation?

e & o W@ T fafau) [141+1=3]
Write three main characterislics of a magnet. '

"t Wi wE A Sufad @it el F Yw wE 1 ¥ 1 T8 T

& ®Y 97 Fru fafaq [3]

*All living organisms belonging to one species have same characters.”

Wrile any three rgagons,{Riig sBBHPEBline.com
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e C R LGS
Ader : e wmaE 11 ® 14 T SEERGIRAE € -
4 3iw oydfm ¥ (WAF IW 1 AP
75 = ®) tions
Instruction Question Nos. 11 to 14 are shorl answer type qucs ‘

. imit of
Each question carrics 4 marks. (Maximum word limit

cach answer is 75 words)

TE-11 ¥R R Qe 3 sl e w1 avi Frefafae fagall J #iT
(37) Aifea fax
(%) wieg =1 v g

Describe the industrial production of cthanol from molasses under

[2+2=4]

the following heads :
(@) Labelled diagram
() Chemical equation of the process

arera
OR
pvC &1 "ufra e faasy, T9& a8 A svam fafaw)

Write the condensed structure of PVC and write any two uses of it.
uva-12  SifE vd ETaE vauT ¥ 9R o fafaa) [1x4=4)
Write four differences between aerobic and anaerobic respiration.
gar

OR
Sififer wd 3l o § = 3t fafae |
Write four differences between sexual and asexual reproduction.
W-13  WurEl TE SwTE orer & € 7 ST JE W Hife | [2+2=4]
What are dominant and recessive characters? Explain with example.
arerar
OR
GeHAa Qd Taafa Auv F1 ¥ ? I WL Hifg |

What are homologous and analogous characters? Explain with example.

S-5A .
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| s 7]
Wwﬂﬁ:mampblnﬁmﬁmm%l sitwe) T favemy
= Frrfafaa vl % s i
anoft
werd & pH ur
TR ¥ W 7 faemm 8.2
EiEake:| 2.2
it 7.0
wiferm Trglvars faed 13.0
9 :
(37) fora verd =t wopfar amla ® 2 [1x4=4]
(%) Tou verd %) wpfy srei@ 2
(§) f5e o 9 vl A T2
(3) *F-81 vEd Yo AR ® ?
Name of some substances and their pH values are given in the table.
Analyse the data and answer the following questions :
Table
Name of Substance pH value
Solution of baking soda 8.2
Lemon juice 22
Water 7.0
Sodium hydroxide solution 13.0
Question :
(@) Which of the substance is basic in nature?
(5) Which of the substance is acidic in nature?
(¢) Which of the substance is neutral in nature? .
(d) Which of the substance is strong base?
Jrerar
OR
S-5A P.T.O.
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f1 T 2 o e wE: 5, 7 0 10 ¥ ) e fh—
(31 SA-WAIT T 1BHFE 510
(F) FH-Ta@ T 1S FE ;D
(9) A-waaT 13 :Y ;6
() ﬁmﬁaﬁm&r&aﬁ%’ﬁl

The atomic numbers of three clements are 5, 7 and 10 respectively.

Write—

(@) which of these belongs to group 18;

- (&) which of these belongs to group 15;

(¢) which of these belongs to group 13;

(d) all elements belong to which period.

fder T HHS 15 T 16 3wl 7 ¥ @F T\ W
5 3% ImEfed ¥l (VW IW # sfuwan  w=-um
150 W% ¥) '

Instruction Question Nos. 15 and 16 are long answer type questions.
Each question carries 5 marks. (Maximum word limit of
each answer is 150 words)

uyA-7s  ferga W (Sran) &1 aviA e vl ¥ ofwta S [1+2+2=5)

(37 fagra,
(7) “mifea waEfa=
(7)) wdfafu
Explain electric generator (Dynamo) under the following headings :
(a) Principle
(b) Labelled diagram
(c) Working method
SSA
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9]
arerar
OR

el T8 T & I g Y s @) i g T
Y@ gt et yEdm i s fargali 3 strta Fif ;

(37 =mifRa fa=

(9) wam fafy

(%) A "Wl

Draw magnetic lincs of force when North pole of bar magnet is

aligned with the geographic North and describé under the following
heads :

(a) Labelled diagram
(6) Application method

(¢) Two precautions

Tt Taaet S i F5ha B (R ) W& wrw gl () F deiw waifva
I |

Establish the relation between the radius of curvaturé R ) and focal
length (/) of the spherical concave mirror,,

Huar

OR

R T i &2 T 3 o e i Y
TR |

What is reflection of light? Write law of reflection and draw labelled

diagram,

(5]

S-5A
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o W w17 T 18 ddenin WA ¥ wE T W
6 3t% amifen ¥ | w&w Wt N Q I9-wA ¥ 1 (YAF IR B
AfiEa 2-dim 75 o=t ¥)

Instruction

Question Nos. 17 and 18 are long answer type questions.
Each question carrics 6 marks. Each question has two

sub-questions. (Maximum word limit of cach answer is
75 words)

WA-17" () Wig W& g A v o F anun o d sim forfae

() Frfafen frammem ergiom ¥ frt ol ) <ol €2
OB R R CER R O e B T
(i) TEA A A W 9N F Ye F ol Jod et & I W
"R T ST o ¥ [3+1%+1%=6]

(@) Write three differences between metal and non-metal on the
basis of physical propertics.

(6) The activities described below are due to which property of
hydrogen? '
() Ahydrogen filled balloon flies in air.
(if) A ‘pop’ sound is produced when a lighted matchstick is

taken near the mouth of the jar filled with hydrogen gas.

Har
OR

(37) @i Td g% 4 I wfea i fafaw) (a9 6)
() Here fhd hed € 2 |emn = & Rl i sarl @ frfan

(a) Write differences between mineral and ore with example,

(any three)

(b) What is corrosion? Write any three methods to prevent corrosion.

S-SA
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gya-18_~ (30 T F T H I e i furw
() MRE A Hfad HCl . % ffiag ) (s )

(a) Draw a well-labelled diagram of human digestive system.

() Write the function of HCI secreted in the stomach. (any three)

(37) WA TX@ F Taaq 1 (LS) F1 wres AR fad $ R

T
OR

[343=6]

() THE-Hew F ofovm faast whea &t Tamate wiem fafeg )

(a) Draw a well-labelled diagram of longitudinal section (LS) of
human heart.

() Define photosynthesis and write the chemical equation_of this

process.
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